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lli~M = 352 lltrrRJG~*~ 104 ~if.tr1t±mm1:.~~• 
~.PJT~§.5JU : 0~ft~UJf~rJTI¥ , Z~!l 
::tf~f4§ : ffrtffW3~&~!fo/JMCgt~ ~fiitBWJ: 0212 • &P*: 3 

~1J!·~2J{ 

VJ- r *-~Jl:;Ftr!Jftit~-tl1Jf'ti~1f. (cross-sectional study) t,IJ~J'Jf,f.f.t;f±(£ ~~.lfJt>jlJ•It•li$1.•ltJifi 

~~M.!!.lf.~j&tflf.ftlt ' ~~~·!!.lf. ( inciden~e rate) ~j&tflf. (prevalence rate) tr.J!:Je-(£65 

jlJt1t1fRA·?t~tJ91~~ f!J ~1-f? ( 10%) 

Underage 65 Over age 65 

Incidence rate 0.003 0.01 

Prevalence rate 0.05 0.01 

Jj:. Jt }j1j A o tt t5 Jiil ·It }j1j A Jifi~Jb-tlf. 

ott.tr.J~lf. ( .tj:-1,000A) 

JJ·Ii 
<651l 0.8 10.0 

>-651l 0.2 20.0 

::k·li 
<65jl 0.6 15.0 
>~65jl 0.4 20.0 

(-) 'd-1'!--~;f±~ ~Hi~~Jifi~ tfJlllJb-tlf. (crude mortality rate) o (10%) 

( .::. ) VJ- ::k •It ~ $-~ ~ Jf ' 'd-1'!-. ~ ;f± (£ 1$ •It ~ ~ Jifi ~ tr.J .lf ._ *1 .. {t. Jb -t ~t. ( age-standardized mortality 

ratio) o (10%) 

- , 1f-IUJ:&G-·*ItHI~-l\~Jb-t.fJtft-Jit-M:flHJ.~Ii tl:l : r2011Jj:. • ~)'f15jlVJ-J:.Jb-tAP tp • Adt:t"ifl#JJb-t 

Jf..Jt53.68-'. · 1f~:t"Jt70.121l · Nt*;ttJ9-t#JJb-t.lfJtJ1tJ459.47-'. o J .lt$t.:tl*tr!JN£.1ttUi · ~ 

Alif~;jfUt r *•~.tt-ktJ9.f/p-1f!U) J ? (10%) 

Wl, ~~1l:.AJHlffl}ltt~Jifi~~MJi\ll'-tr.J~11:. · ~-(f.~--~~!!JXJ#-*-th.Jt 11,000A • .Jl.Jttp600 

A1fJifi•••·~OAA····~~~~~-~1L···fttJ9&~~-AAtr.J6S•trr~t·~ 
~-1~11:.-t-~;ttJ91}ltt~oc·a-f.f~rttito•~m~1t·AA4S~~-Jifi~•M•!!.tr.J•• 
~t. ( Odds Ratio ) o (1 0% ) 

'-------------------------------------·-----' 
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~Pfi~lJU : 0~1fi~iff3\:rfilfl , z~ 
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m2J1·~2}l 

...... ~~ 1f!ili~~~* ••* 
No No 

... 
90 140 

Yes No 100 70 

No Yes 110 120 

Yes Yes 300 70 

li' tXritht~$-~ r QaifJt.tJtl11f"il-flJ tfJ 101nl"~~ (Group A) *!i.~$-~---U 101:t!.~-$JJ~ 

(GroupB) *!!.~"il:f.U~J1t1t rQaifJt.J $JtUt~it (Score) tf.Jtt.-+!~:fJT~)Ilo 

Group Statistics 
GROUP N Mean Std. Std. Error 

'If 

Deviation Mean 
SCORE A 10 10.5000 2.2236 .7032 

B 10 8.8000 2.0976 .6633 

Independent Samples Test 

Levene's Test for t-test for Equality of 
Equality of Means 
Variances 
F Sig. t df Sig. Mean Std. Error 95% Confidence Interval 

(2-taile Differen Difference of the Difference 
d) ce 

Lower Upper 
SCORE Equal variances .093 .764 1.759 18 .096 1.7000 .9667 ~ ~ 

assumed 
Equal variances not 1.759 .096 1.7000 .9667 -.3314 3.7314 

assumed 

(-) , 1t~~Ht1f.J:-*.~tr.J~, ~~fJTf<.-*.tr.Jitit o (10%) 

(.::..) ' 1:~ tft}t..tf~ equal-variance tfJ{Ntl;f; .sjt~t~?t:t~~J!. th o (10%) 

7\.' ~•~*tr.J#~~~-~·~1!10%~~-~••*~~~~•~tr.J~&~~~••m·~~1f10% 

tr.J#~-~··-~~~··~•Jt.A~$~o··-~~~~~1f1%tfJ~4~t·•·~~·M 

··~~~~~rr~£~~·#1~~·~~~··•A~~·~·~~·~~*~4tr.J~·A~? 
(10%) 

-t:' ..... EfJT1fdE~A·-~-~~·A(a)A5&·+~U·~~A~-~~~M~100~~ 

A·~~100~~A~·~·-A~& 

(-) -~.X; ~~ tfJ ~. ~ (standard error) 0 (10%) 

(.::..) ~~-11]100 ~~A~*"-~·~·ItA so & • --~~*-· ~ 95%tfJ1t·~7]<.·""f • 1!~#-Ua*lf 
~fJT1fdE~A·~·--~1tM~!Ul (confidence interval) o (10%) 


